W.LH 0839/0839/2p"ull1og-ny'1|"ace)//:dny :sajy

—
®
(@]
>
=
Q
=R
S
=
o
=
3
2
o
=
=2
=

°©
g

=
»
o
Q
3
Q.
(4
o
=
>
=

°©
=
[y
w
o
[EEY
N
©
(o))
o
S
al
~
L
Q
=
o

3
@D
=
=

V L (0] Y
http://farbe.li.tu-berlin.de/BES0/BESOLONA.TXT /.PS; start output

N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

logarithmic V , V,-data u, = (A - 550) / 50

logV = (logV,+ logL)/2logM = —0,35[~Us.] |

logV, =logV + 0,03 logLo = —0,35\~Us7q

log [Vo, V , Vi, Lo] Adaptation: A, .=555
570

maximum
log(Vm)=-0,03
Vm=0,93
Threshold
tz=0,00

3 Uy

700 A/nm
BE800-1N

Uy = (A - 550) / 50

DoPo->UaUo
logarithmic L , L,-data
logL = (logVi,+log )/2logVl, = —0,35u)-u
logLo =logL +0,12 log  =-0,35\-u ]
log [Lo, L, Mg, Adaptation: A, =570

maximum
log(Lm)=-0,12
Lm=0,74
Threshold
tg=0,00

BE800-3N
Uy =\ —550)/ 502
=(log - +logLg)/2 log = -0,35u)\-u ]2
Iog + 0 35 logLo = —0,35\~Us7q
Adaptatlon A (=520

maxlmum
log(“m)=—0,35]
m=0,44
Threshold
ta=0,00

3 uy
700 )\/nm

5bo sbo
-data uy=M- 550) /5
+log )2 log =-0,35u\-u ]
+0,12 log- =-0,35\-u ]
Adaptation: A =470

maximum

Threshold
ta=0,00

8 Uy

700 A/nm
BE800-7N

ToGo->BaBo
BE800-7R, 1

logarithmic

log/ = (log
log V', = log

log [ V1o,

-data
+ logLo)/2log
+0,12

' CoLol

uy = (A - 550) / 50
= -0,35[-U ]
logL o= —0,35)\~Us7q
Adaptation: A =540
570

maximum

log(V' m)=-0,13
m=0,74

Threshold

tg=0,00

3 uy

logarithmic L , Lo-data
logL = (log
logLo =logL + 0,12

log [L , Mo,

+log

700 A/nm
BEB00-2N

u, = (\ — 550) / 50

)2log MV, = —0,35L)~Us.]]
log =-0,35u\-u ]
Adaptation: A, =570

maximum
log(Lm)=—0,12
Lm=0,74
Threshold
tg=0,00

=(log +log
+0,12

=log

=\ - 550)/5

)2 Iog —O 35up-u ]
log- =-0,350\~-u 1
Adaptation: A =470

maximum

log( m)=-0,12]
m=0,

Threshold

tg=0,00

3 uy

= (log
=log

-data
+loglLo)/2 log - = -0,35L)\—u ]2
+0,35

Lol

600
Uy = (A - 550) / 50

logL o= —0,35\~Us7q
Adaptatlon A =520

/

maximum
log(“m)=—0,35]
m=0,44
Threshold
tz=0,00

3uA

BoJo->MaMo

5b0

BE800-8N

logarithmic V , V,-data
+logLo)/2log

logV = (log

logV, =logV + 0,03

log [Vo, V

Lol

u, = (A — 550) / 50
= —0,35[\~Us. ]|
logLo = —0,35\~Us7q
Adaptation: A, =555

570

maximum
l0g(Vim)=-0,02]
Vm=0,94
Threshold
ta=0,01

3uh

logarithmic L , Lo-data

logL = (log

+ log

logLo =logL + 0,12

log [Lo, L,

700 A/nm
BE801-1N

u, = (A — 550) / 50

)/2logV ;= —0,35U)~U:]]

log =-0,35l\-u 1
Adaptation: A, =570

maximum
log(Lm)=-0,12
Lm=0,75
Threshold
t5=0,01

= (log
=log

-data
+logLo)/2 log
+0,35

Lol

BEBO1-3N
uy = (A — 550) / 502
=-0,35u)-u ]2
logLo = —0,35[)~Us7d
Adaptation: A =520
< maximum
log(“m)=-0,34|
m=0,
Threshold
tz=0,01

\

3 uy

= (log
= log

+log
+0,12

600
Uy = (A — 550) / 5
)2 log . =-0,35u\-u ]
log- =-0,35u\-u ]
Adaptation: A =470

maximum

Threshold
ta=0,01

& Uy

ToGo->BaBo
BE801-7R, 1

TUB-test chart BE8O; Relative elementary colour vision

BE801-7N

o)
Z

-data
+loglLg)/2log = —0,35u)-u ]2
+0,12 logL o= —0,35l)\~Us7q
,Lol Adaptation: A (=540

570

logarithmic
= (log

=z .
maximum

Threshold
ta=0,01

BE801-2N
Uy = (A — 550) / 50
= -0,35[-u.,]]
= -0,35[,-u
=570

,Lo-data
+log )/2log
logLo =logL + 0,12 log
log[L, My, Adaptation: A

maximum
log(Lm)=—0,12
Lm=0,75
Threshold
t5=0,01

-data uy = (A —550) / 5(%
+log )2 log  =-0,35u)-u
=log +0,12 log' =-0,35l\~-u
Adaptation: A =470

maximum

log( m)=—0,12]
m=0,

Threshold

tg=0,01

1 3 uy
600

, - -data u, = (\ — 550) / 50
+loglLo)/2 log - =-0,35L)\—u ]2
+0,35 logLo= —0,35l)\~Us7q
, L Adaptation: A =520

N

maximum

Threshold
ta=0,01

BoJo->MaMo

input: w/rgb/cmyk —> rgh-
Sensitivities logLMS-R17_Mx (x=1,2,3,4and combinations; thresholg-0,00 and 0,01
Y

Uy = (& - 550) / 5o'|
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